Exp.1

Pexp't | 741.6 mmHg Troom 26.5 °C
dfgH| 0.918 g/ml Proom | 741.6 | mmHg
dHg 13.6 g/ml
60cm
Run 1 Run 2
hL hr Ah hL hr Ah
Pi 22.7 84.2 61.5 29.3 77.8 48.5
P2 29.8 76.4 46.6 37.0 70.0 33.0
P3 29.3 77.8 48.5 36.2 71.3 35.1
40cm
Run 1 Run 2
hr hr Ah hr hr Ah
Pi 36.2 71.3 35.1 41.9 65.7 23.8
P2 42.8 64.5 21.7 47.7 59.4 11.7
P3 41.9 65.7 23.8 47.1 60.4 13.3
60cm 40cm
Run 1 (mmHg) Run 2 (mmHg) Run 1 (mmHg) Run 2 (mmHg)
AhHg P AhHg P AhHg P AhHg P
Pi 41.5 [ 783.113 | 32.7 [774.338 Pi 23.7 [765.293 16.1 | 757.665
P2 31.5 [773.055 | 22.3 |763.875 P2 14.6 | 756.248 7.9 749.498
P3 32.7 | 774338 | 23.7 ]765.293 P3 16.1 [ 757.665 9.0 750.578
Cp/Cv 1.147 1.158 Cp/Cv 1.187 1.153
Calculations
(1) LA 60cm, runl Ey 3l
d .
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P = Proom+Ath—X 10
Hg
918
= 741.6 (mmHg) + 61.5 X X 10
13.6
= 783.113 (mmHg)
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